VPQT%\(L\L\‘\.Q{S — |ln Same \P[%L ‘fﬂw }/\‘Lﬁfsec:(‘ -

NN Ty

4 =

!

| S'/oée‘bwca— f_ ? Eowe,

Sleee & b = S §O\Me, s/on

-——""““"‘”‘,m

. P?r@ﬁnchw Z_ ~s D )h <ol bfarm ¢ \nlers¢¢;9~ -‘&%‘ 96 waz

=

4

-
«QIAP‘Q O‘\D E = =

s )OP‘QB Kre ?)@P@S/L& N Sean 1 ‘
‘ | T = 5 a\)
(ocier cels , = & =-=
o 4 J
2 .5 bk
ko4 7 N

,m Z/O(T]e an Q_ﬁém';p{y\ 19"@ = l..‘M iDoer«&e/( 4& \;]:;3}(%! A HA/’D‘L«S\’\
I P0-3,-5)

P—\nlw Stojﬂ& aﬁ 3 = @ ,S-{L? g’\é‘ﬁ'{g}@&, %!lau LOQN‘*-
y\;--;,f\i_;wg_g\ﬁm,y\,;, 3 zré- P lus Slppe { Poral 1Atk
Nz M yb | \= Mx + o
3(-D+b
-< = =94+ b

3“’ P(% M L; "t \’/;mb




O(A)r:le €’?n DQrD&mmw

437 \I ZX-Lé —f"f/\mvg‘\ p(H 5)

v

,‘St Fnd Shpe yo gmi

%N/,P@% ~m; b rq},; 9:,««,@4

p322:3(,

vz,7 15°

B2




